



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$9^2 + 2 =$$

$$10^{(-2)} - (-5) =$$

$$(-8)^0 - (-7) =$$

$$4 - 4 =$$

$$9^{(-1)} + 1 =$$

$$(-8)^{(-2)} - (-2) =$$

$$(-8)^2 - 3 =$$

$$(-3)^{(-2)} - 6 =$$

$$4^0 + 3 =$$

$$6^2 - 2 =$$

$$5^{(-1)} - 2 =$$

$$9^{(-1)} + (-7) =$$

$$(-6)^2 - 5 =$$

$$4^{(-1)} - (-5) =$$

$$(-10)^2 + 9 =$$

$$6 - 1 =$$

$$(-5)^2 + (-10) =$$

$$7^{(-2)} + (-9) =$$

$$(-9)^{(-2)} + 3 =$$

$$(-3)^{(-2)} + 10 =$$



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$9^2 + 2 = 83$$

$$10^{(-2)} - (-5) = \frac{501}{100} = 5\frac{1}{100}$$

$$(-8)^0 - (-7) = 8$$

$$4 - 4 = 0$$

$$9^{(-1)} + 1 = \frac{10}{9} = 1\frac{1}{9}$$

$$(-8)^{(-2)} - (-2) = \frac{129}{64} = 2\frac{1}{64}$$

$$(-8)^2 - 3 = 61$$

$$(-3)^{(-2)} - 6 = \left(-\frac{53}{9}\right) = \left(-5\frac{8}{9}\right)$$

$$4^0 + 3 = 4$$

$$6^2 - 2 = 34$$

$$5^{(-1)} - 2 = \left(-\frac{9}{5}\right) = \left(-1\frac{4}{5}\right)$$

$$9^{(-1)} + (-7) = \left(-\frac{62}{9}\right) = \left(-6\frac{8}{9}\right)$$

$$(-6)^2 - 5 = 31$$

$$4^{(-1)} - (-5) = \frac{21}{4} = 5\frac{1}{4}$$

$$(-10)^2 + 9 = 109$$

$$6 - 1 = 5$$

$$(-5)^2 + (-10) = 15$$

$$7^{(-2)} + (-9) = \left(-\frac{440}{49}\right) = \left(-8\frac{48}{49}\right)$$

$$(-9)^{(-2)} + 3 = \frac{244}{81} = 3\frac{1}{81}$$

$$(-3)^{(-2)} + 10 = \frac{91}{9} = 10\frac{1}{9}$$